Le calcul littéral

Remplace & par la valeur qui est donnée dans

'énoncé.
N'oublie pas les régles de priorité.
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Le calcul littéral

Remplace & par la valeur qui est donnée dans

I'énoncé.

N'oublie pas les régles de priorité.

La=2
6 x 2 - « =
2 x£=06
9 + a« x b =
s =3
x X 6 + 4 =
s =1




Le calcul littéral

Remplace & par la valeur qui est donnée dans

'énoncé.
N'oublie pas les régles de priorité.

Lax=9

~
X
N
+
&
T




Le calcul littéral

Remplace & par la valeur qui est donnée dans

'énoncé.
N'oublie pas les régles de priorité.

Lax=2




Le calcul littéral

Remplace & par la valeur qui est donnée dans

'énoncé.
N'oublie pas les régles de priorité.
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Le calcul littéral

Remplace & par la valeur qui est donnée dans

'énoncé.
N'oublie pas les régles de priorité.
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Le calcul littéral

Remplace & par la valeur qui est donnée dans

'énoncé.
N'oublie pas les régles de priorité.

Lax=2

2 x£=06

2 x a« + 6 =
s =71

x x 9 + 3 =
s =3




Le calcul littéral

Remplace & par la valeur qui est donnée dans

I'énoncé.

N'oublie pas les régles de priorité.
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Le calcul littéral

Remplace & par la valeur qui est donnée dans

I'énoncé.

N'oublie pas les régles de priorité.
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Le calcul littéral

Remplace & par la valeur qui est donnée dans

'énoncé.
N'oublie pas les régles de priorité.

Lx=06

s =3
9 X 7 + a =
=95




Le calcul littéral

Remplace & par la valeur qui est donnée dans

'énoncé.
N'oublie pas les régles de priorité.
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